

Modified Noor iterative procedure for three asymptotically pseudocontractive maps

Mogbademu, Adesanmi Alao

Department of Mathematics, Faculty of Science, University of Lagos, Akoka,
Lagos, Nigeria
e-mail:amogbademu@unilag.edu.ng

Abstract

Rafiq, Acu and Sofonea [9] recently considered an iterative algorithm for two asymptotically pseudocontractive mappings. They proposed that it is an open problem to show that their results can be extended to the case of three mappings. This paper answers the question in the affirmative.

Keywords: *Modified Noor iteration; asymptotically pseudocontractive mappings; Banach spaces.*

1 Introduction

Let E be an arbitrary real Banach Space and let $J : E \rightarrow 2^{E^*}$ be the normalized duality mapping defined by

$$J(x) = \{f \in E^* : \langle x, f \rangle = \|x\|^2 = \|f\|^2\}, \forall x \in E \quad (*)$$

where E^* denotes the dual space of E and $\langle \cdot, \cdot \rangle$ denotes the generalized duality pairing between E and E^* . The single-valued normalized duality mapping is denoted by j .

Remark 1.1 The above J satisfies

$$\langle x, j(y) \rangle \leq \|x\| \|y\|, \forall x \in E, \forall j(y) \in J(y)$$

Proof. Denote $j(y)$ by f . Since $f \in E^*$, we have

$$\langle x, j(y) \rangle \leq \|x\| \|y\|.$$

From (*), we know that $\|f\| = \|y\|$. Hence the result holds.

In 1972, Goebel and Kirk [4] introduced the class of asymptotically nonexpansive mappings as follows:

Let K be a nonempty closed convex subset of E and $T : K \rightarrow K$ be a map.

Definition 1.2 A mapping T is said to be asymptotically nonexpansive if for each $x, y \in K$

$$\langle T^n x - T^n y, j(x - y) \rangle \leq k_n \|x - y\|^2, \forall n \geq 0,$$

where sequence $(k_n) \subset [1, \infty)$ with $\lim_{n \rightarrow \infty} k_n = 1$.

Definition 1.3 The mapping T is said to be uniformly L - Lipschitzian if there exists a constant $L > 0$ such that

$$\|T^n x - T^n y\| \leq L \|x - y\|,$$

for any $x, y \in K$ and $\forall n \geq 0$.

Definition 1.4 The mapping T is said to be asymptotically pseudocontractive if there exists a sequence $(k_n) \subset [1, \infty)$ with $\lim_{n \rightarrow \infty} k_n = 1$ and for any $x, y \in K$ there exists $j(x - y) \in J(x - y)$ such that

$$\langle T^n x - T^n y, j(x - y) \rangle \leq k_n \|x - y\|^2, \forall n \geq 0.$$

Remark 1.5 One can see that, every operator which is asymptotically pseudocontractive, in general, may not admit fixed point. The existence of fixed point result for asymptotically pseudocontractive maps depends on the space, nature of subset and further properties of the operator. See, [1- 4].

The concept of asymptotically pseudocontractive mappings was introduced by Schu[10].

Chang et al. [3] proved a strong convergence theorem for a pair of L -Lipschitzian mappings instead of a single map used in [8]. In fact, they proved the following theorem :

Theorem 1.6 ([3]). Let E be a real Banach space, K be a nonempty closed convex subset of E , $T_i : K \rightarrow K$, $(i = 1, 2)$ be two uniformly L_i -Lipschitzian mappings with $F(T_1) \cap F(T_2) \neq \phi$, where $F(T_i)$ is the set of fixed points of T_i in K and ρ be a point in $F(T_1) \cap F(T_2)$. Let $k_n \subset [1, \infty)$ be a sequence with $k_n \rightarrow 1$. Let $\{\alpha_n\}_{n=1}^{\infty}$ and $\{\beta_n\}_{n=1}^{\infty}$ be two sequences in $[0, 1]$ satisfying the following conditions:

- (i) $\sum_{n=1}^{\infty} \alpha_n = \infty$ (ii) $\sum_{n=1}^{\infty} \alpha_n^2 < \infty$ (iii) $\sum_{n=1}^{\infty} \beta_n < \infty$
- (iv) $\sum_{n=1}^{\infty} \alpha_n(k_n - 1) < \infty$.

For any $x_1 \in K$, let $\{x_n\}_{n=1}^{\infty}$ be the iterative sequence defined by

$$\begin{aligned} x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T_1^n y_n \\ y_n &= (1 - \beta_n)x_n + \beta_n T_2^n x_n. \end{aligned}$$

If there exists a strictly increasing function $\Phi : [0, \infty) \rightarrow [0, \infty)$ with $\Phi(0) = 0$ such that

$$\langle T_1^n x_n - \rho, j(x_n - \rho) \rangle \leq k_n \|x_n - \rho\|^2 - \Phi(\|x_n - \rho\|)$$

for all $j(x - \rho) \in J(x - \rho)$ and $x \in K$, ($i = 1, 2$), then $\{x_n\}_{n=1}^\infty$ converges strongly to ρ .

The result above extends and improves the corresponding results of [8] from one uniformly Lipschitzian asymptotically pseudocontractive mapping to two uniformly Lipschitzian asymptotically pseudocontractive mappings. In fact, if the iteration parameter $\{\beta_n\}_{n=0}^\infty$ in Theorem 1.1 above is equal to zero for all n and $T_1 = T_2 = T$ then, we have the main result of Ofoedu [8].

Recently, Rafiq, Acu and Sofonea [9], improved the results of Chang et al. [3] in a significant more general context. They then gave an open problem whether their results can be extended for the case of three mappings which are more general than the two maps. Indeed, they proved the following theorem.

Theorem 1.7 ([9]). Let K be a nonempty closed convex subset of a real Banach space E , $T_i : K \rightarrow K$, ($i = 1, 2$) be two uniformly L -Lipschitzian mappings with sequence $k_n \in [1, \infty)$, $\sum_{n=1}^\infty (k_n - 1) < \infty$ such that $F(T_1) \cap F(T_2) \neq \emptyset$, where $F(T_i)$ is the set of fixed points of T_i in K and ρ be a point in $F(T_1) \cap F(T_2)$. Let $\{\alpha_n\}_{n=1}^\infty$ and $\{\beta_n\}_{n=1}^\infty$ be two sequences in $[0, 1]$ such that $\sum_{n=1}^\infty \alpha_n = \infty$, $\lim_{n \rightarrow \infty} \alpha_n = \beta_n = 0$. For any $x_0 \in K$, let $\{x_n\}_{n=1}^\infty$ be a sequence iteratively defined by

$$\begin{aligned} x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T_1^n y_n \\ y_n &= (1 - \beta_n)x_n + \beta_n T_2^n x_n. \end{aligned} \tag{1.1}$$

Suppose there exists a strictly increasing function $\Phi : [0, \infty) \rightarrow [0, \infty)$ with $\Phi(0) = 0$ such that

$$\langle T_i^n x_n - \rho, j(x_n - \rho) \rangle \leq k_n \|x_n - \rho\|^2 - \Phi(\|x_n - \rho\|), \forall x \in K (i = 1, 2)$$

Then $\{x_n\}_{n=1}^\infty$ converges strongly to $\rho \in F(T_1) \cap F(T_2)$.

The purpose of this paper is to address the open problem of [9] by following their style and technique of proof. For this, we need the following concepts and Lemmas.

Definition 1.8 (see, [6, 7]). Let $T_1, T_2, T_3 : K \rightarrow K$ be three mappings. For any given $x_1 \in K$, the modified Noor iteration $\{x_n\}_{n=1}^\infty \subset K$ is defined by

$$\begin{aligned} x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T_1^n y_n \\ y_n &= (1 - \beta_n)x_n + \beta_n T_2^n z_n \end{aligned}$$

$$z_n = (1 - \gamma_n)x_n + \gamma_n T_3^n x_n, \quad n \geq 0, \quad (1.2)$$

where $\{\alpha_n\}_{n=1}^\infty, \{\beta_n\}_{n=1}^\infty$ and $\{\gamma_n\}_{n=1}^\infty$ are three real sequences satisfying some conditions. If $\gamma_n = 0$, we define modified Ishikawa iteration procedure $\{x_n\}_{n=1}^\infty$ by

$$\begin{aligned} x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T_1^n y_n \\ y_n &= (1 - \beta_n)x_n + \beta_n T_2^n x_n, \quad n \geq 0. \end{aligned} \quad (1.3)$$

Also, if $\beta_n = 0$, we define modified Mann iteration procedure $\{x_n\}_{n=1}^\infty$ by

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T_1^n x_n, \quad n \geq 1. \quad (1.4)$$

Lemma 1.9 [1, 9]. Let E be real Banach Space and $J : E \rightarrow 2^{E^*}$ be the normalized duality mapping. Then, for any $x, y \in E$

$$\|x + y\|^2 \leq \|x\|^2 + 2 \langle y, j(x + y) \rangle, \quad \forall j(x + y) \in J(x + y).$$

Lemma 1.10 [5]. Let $\Phi : [0, \infty) \rightarrow [0, \infty)$ be an increasing function with $\Phi(x) = 0 \Leftrightarrow x = 0$ and let $\{b_n\}_{n=0}^\infty$ be a positive real sequence satisfying

$$\sum_{n=0}^{\infty} b_n = +\infty \quad \text{and} \quad \lim_{n \rightarrow \infty} b_n = 0.$$

Suppose that $\{a_n\}_{n=0}^\infty$ is a nonnegative real sequence. If there exists an integer $N_0 > 0$ satisfying

$$a_{n+1}^2 < a_n^2 + o(b_n) - b_n \Phi(a_{n+1}), \quad \forall n \geq N_0$$

where $\lim_{n \rightarrow \infty} \frac{o(b_n)}{b_n} = 0$, then $\lim_{n \rightarrow \infty} a_n = 0$.

2 Main results

Theorem 2.1. Let E be a real Banach space, K be a nonempty closed convex subset of E and $T_i : K \rightarrow K$, ($i = 1, 2, 3$) be three uniformly L_i -Lipschitzian mappings with $\rho \in F(T_1) \cap F(T_2) \cap F(T_3) \neq \emptyset$. Let $k_n \subset [1, \infty)$ be a sequence with $k_n \rightarrow 1$ and $\sum_{n=1}^{\infty} (k_n - 1) < \infty$. Let $\{\alpha_n\}_{n=1}^\infty, \{\beta_n\}_{n=1}^\infty$ and $\{\gamma_n\}_{n=1}^\infty$ be three sequences in $[0, 1]$ satisfying the following conditions: $\sum_{n=1}^{\infty} \alpha_n = \infty$, $\lim_{n \rightarrow \infty} \alpha_n = \beta_n = \gamma_n = 0$. For any $x_1 \in K$, define the sequence $\{x_n\}_{n=1}^\infty$ by the iterative procedure (1.2). Suppose there exists a strictly increasing function

$\Phi : [0, \infty) \rightarrow [0, \infty)$ with $\Phi(0) = 0$ such that

$$\langle T_i^n x_n - \rho, j(x_n - \rho) \rangle \leq k_n \|x_n - \rho\|^2 - \Phi(\|x_n - \rho\|), \forall x \in K (i = 1, 2, 3). \quad (2.1)$$

Then $\{x_n\}_{n=1}^{\infty}$ converges strongly to $\rho \in F(T_1) \cap F(T_2) \cap F(T_3)$.

Proof. Since T_1, T_2 and T_3 are uniformly L_i -Lipschitzian mappings, we have that for all $x, y \in K$

$$\|T_i^n x - T_i^n y\| \leq L_i \|x - y\|, (i = 1, 2, 3).$$

For convenience, denote $L = \max\{L_1, L_2, L_3\}$.

By $\lim_{n \rightarrow \infty} \alpha_n = \beta_n = \gamma_n = 0$ and $\lim_{n \rightarrow \infty} k_n = 1$, there exists $n_0 \in N$ such that $\forall n \geq n_0$,

$$\begin{aligned} \alpha_n &\leq \min\left\{\frac{1}{2+3L}, \frac{\Phi(2(\Phi^{-1}(a_0)))}{18(1+L)(2+3L)(\Phi^{-1}(a_0))^2}\right\}, \\ \beta_n &\leq \min\left\{\frac{1}{1+2L}, \frac{\Phi(2(\Phi^{-1}(a_0)))}{18L(2+3L)\Phi(2(\Phi^{-1}(a_0)))}\right\}, \\ \gamma_n &\leq \frac{1}{2}\left\{\frac{1}{1+L}\right\} \end{aligned} \quad (2.2)$$

and

$$k_n - 1 \leq \frac{\Phi(2(\Phi^{-1}(a_0)))}{54(\Phi^{-1}(a_0))^2}. \quad (2.3)$$

Define $a_{0,i} = \|x_{n_0} - T_1^{n_0} x_{n_0}\| \|x_{n_0} - \rho\| + (k_n - 1) \|x_{n_0} - \rho\|^2, (i = 1, 2, 3)$ such that $a_0 = \max\{a_{0,1}, a_{0,2}, a_{0,3}\}$. Thus, by (2.1)

$$\langle T_i^n x_n - \rho, j(x_n - \rho) \rangle \leq k_n \|x_n - \rho\|^2 - \Phi(\|x_n - \rho\|).$$

So that, on simplifying

$$\|x_n - \rho\| \leq \Phi^{-1}(a_0). \quad (2.4)$$

Now, we claim that $\|x_n - \rho\| \leq 2\Phi^{-1}(a_0), \forall n \geq n_0$. Clearly in view of (2.4), the claim holds for $n = 0$. We next assume that $\|x_n - \rho\| \leq 2\Phi^{-1}(a_0)$, for some n and we shall prove that $\|x_{n+1} - \rho\| \leq 2\Phi^{-1}(a_0)$. Suppose this is not true, i.e. $\|x_{n+1} - \rho\| > 2\Phi^{-1}(a_0)$.

Thus, we have from (1.2)

$$\begin{aligned} \|z_n - \rho\| &= \|(1 - \gamma_n)x_n + \gamma_n T_3^n x_n - \rho\| \\ &\leq \|x_n - \rho\| + \gamma_n \|T_3^n x_n - x_n\| \\ &\leq \|x_n - \rho\| + \gamma_n (1 + L) \|x_n - \rho\| \\ &\leq 3\Phi^{-1}(a_0). \end{aligned} \quad (2.5)$$

Similarly,

$$\begin{aligned}
\|y_n - \rho\| &= \|(1 - \beta_n)x_n + \beta_n T_2^n z_n - \rho\| \\
&\leq \|x_n - \rho\| + \beta_n \|T_2^n z_n - x_n\| \\
&\leq \|x_n - \rho\| + \beta_n (L\|z_n - \rho\| + \|x_n - \rho\|) \\
&\leq 2\Phi^{-1}(a_0) + (2 + 3L)\beta_n \Phi^{-1}(a_0) \\
&\leq 3\Phi^{-1}(a_0).
\end{aligned} \tag{2.6}$$

Also, we have the following estimates:

$$\begin{aligned}
(i) \quad \|T_1^n y_n - x_n\| &\leq \|x_n - \rho\| + \|T_1^n y_n - \rho\| \\
&\leq \|x_n - \rho\| + L\|y_n - \rho\| \\
&\leq (2 + 3L)\Phi^{-1}(a_0), \\
(ii) \quad \|x_{n+1} - \rho\| &\leq 3\Phi^{-1}(a_0), \\
(iii) \quad \|x_{n+1} - x_n\| &\leq (2 + 3L)\alpha_n \Phi^{-1}(a_0), \\
(iv) \quad \|x_n - T_2^n z_n\| &\leq (2 + 3L)\Phi^{-1}(a_0), \\
(v) \quad \|y_n - x_{n+1}\| &\leq \|y_n - x_n\| + \|x_{n+1} - x_n\| \\
&\leq \beta_n \|T_2^n z_n - x_n\| + \|x_{n+1} - x_n\| \\
&\leq (2 + 3L)\beta_n \Phi^{-1}(a_0) + (2 + 3L)\alpha_n \Phi^{-1}(a_0).
\end{aligned} \tag{2.7}$$

Using Lemma 1.9 and the above estimates, we have

$$\begin{aligned}
\|x_{n+1} - \rho\|^2 &= \|(1 - \alpha_n)x_n + \alpha_n T_1^n y_n - \rho\|^2 \\
&= \|x_n - \rho + \alpha_n (T_1^n y_n - x_n)\|^2 \\
&\leq \|x_n - \rho\|^2 - 2 \langle x_n - \rho, T_1^n y_n - x_n \rangle \\
&= \|x_n - \rho\|^2 + 2\alpha_n \langle T_1^n x_{n+1} - \rho, j(x_{n+1} - \rho) \rangle \\
&\quad - 2\alpha_n \langle x_{n+1} - \rho, j(x_{n+1} - \rho) \rangle \\
&\quad + 2\alpha_n \langle T_1^n y_n - T_1^n x_{n+1}, j(x_{n+1} - \rho) \rangle \\
&\quad + 2\alpha_n \langle x_{n+1} - x_n, j(x_{n+1} - \rho) \rangle \\
&\leq \|x_n - \rho\|^2 + 2\alpha_n (k_n \|x_n - \rho\|^2 - \Phi(\|x_n - \rho\|)) \\
&\quad - 2\alpha_n \|x_{n+1} - \rho\|^2 + 2\alpha_n \|T_1^n y_n - T_1^n x_{n+1}\| \|x_{n+1} - \rho\| \\
&\quad + 2\alpha_n \|x_{n+1} - x_n\| \|x_{n+1} - \rho\| \\
&= \|x_n - \rho\|^2 + 2\alpha_n (k_n - 1) \|x_n - \rho\|^2 - 2\alpha_n \Phi(\|x_n - \rho\|) \\
&\quad + 2\alpha_n L \|y_n - x_{n+1}\| \|x_{n+1} - \rho\| \\
&\quad + 2\alpha_n \|x_{n+1} - x_n\| \|x_{n+1} - \rho\| \\
&\leq \|x_n - \rho\|^2 - 2\alpha_n \Phi(2(\Phi^{-1}(a_0))) + 2\alpha_n (k_n - 1) \|x_n - \rho\|^2 \\
&\quad + 2\alpha_n L ((2 + 3L)\beta_n \Phi^{-1}(a_0) + (2 + 3L)\alpha_n \Phi^{-1}(a_0)) \|x_{n+1} - \rho\| \\
&\quad + 2\alpha_n ((2 + 3L)\alpha_n \Phi^{-1}(a_0)) \|x_{n+1} - \rho\| \\
&\leq \|x_n - \rho\|^2 - 2\alpha_n \Phi(2(\Phi^{-1}(a_0))) + 18\alpha_n (k_n - 1) (\Phi^{-1}(a_0))^2 \\
&\quad + 6\alpha_n \beta_n L ((2 + 3L)(\Phi^{-1}(a_0))^2 + 6\alpha_n^2 (1 + L)) (2 + 3L) (\Phi^{-1}(a_0))^2
\end{aligned} \tag{2.8}$$

In view of (2.2) and (2.3), equation (2.8) becomes

$$\begin{aligned} \|x_{n+1} - \rho\|^2 &\leq \|x_n - \rho\|^2 - 2\alpha_n \Phi(2(\Phi^{-1}(a_0))) + \alpha_n \Phi(2(\Phi^{-1}(a_0))) \\ &\leq \|x_n - \rho\|^2 - \alpha_n \Phi(2(\Phi^{-1}(a_0))) \\ &\leq \|x_n - \rho\|^2 \\ &\leq (2(\Phi^{-1}(a_0)))^2, \end{aligned} \quad (2.9)$$

which is a contradiction. Hence $\{x_n\}$ is a bounded sequence. So $\{y_n\}, \{z_n\}, \{T_1^n y_n\}, \{T_2^n z_n\}, \{T_3^n x_n\}$ are all bounded sequences. So from (2.8),

$$\begin{aligned} \|x_{n+1} - \rho\|^2 &\leq \|x_n - \rho\|^2 - 2\alpha_n \Phi(2(\Phi^{-1}(a_0))) + 8\alpha_n(k_n - 1)(\Phi^{-1}(a_0))^2 \\ &\quad + 4\alpha_n \beta_n L((2 + 3L)(\Phi^{-1}(a_0))^2 \\ &\quad + 4\alpha_n^2(1 + L)(2 + 3L)(\Phi^{-1}(a_0))^2 \\ &= \|x_n - \rho\|^2 - 2\alpha_n \Phi(2(\Phi^{-1}(a_0))) \\ &\quad + 4\alpha_n(\Phi^{-1}(a_0))^2(2(k_n - 1) \\ &\quad + (2 + 3L)(\beta_n L + \alpha_n(1 + L))). \end{aligned} \quad (2.10)$$

Let $a_n = \|x_n - \rho\|$, $b_n = 2\alpha_n$, $o(b_n) = 4\alpha_n(\Phi^{-1}(a_0))^2(2(k_n - 1) + (2 + 3L)(\beta_n L + \alpha_n(1 + L)))$. Then, we get that

$$a_{n+1}^2 \leq a_n^2 + o(b_n) - b_n \Phi(a_{n+1}), \quad \forall n \geq N_0.$$

Applying Lemma 1.10, we have that $a_n \rightarrow 0$ as $n \rightarrow \infty$. This completes the proof.

Remark 2.2 Our Theorem 2.1 answered the question posed by Rafiq et al. [9] in the affirmative, and the proof course of Theorem 2.1 is quite detailed than that of [9, Theorem 2.3].

3 Open Problem

It is natural to ask if the result of Theorem 2.1 can be extended to the case of finite family of mappings. Can we construct a sequence $\{x_n\}$ that will converge strongly to the common fixed point of such maps?

References

- [1] S. S. Chang, *Some results for asymptotically pseudocontractive mappings and asymptotically nonexpansive mappings*, Proc. Amer. Math. Soc., 129 (2000), 845-853.

- [2] S. S. Chang, Y. J. Cho, B. S. Lee and S. H. Kang , *Iterative approximation of fixed points and solutions for strongly accretive and strongly pseudo-contractive mappings in Banach spaces* , Applied Mathematics Letters, 22(2009), 121-125.
- [3] S. S. Chang, Y. J. Cho, J. K. Kim , *Some results for uniformly L-Lipschitzian mappings in Banach spaces* , Applied Mathematics Letters, 22(2009), 121-125.
- [4] K. Goebel and W. A. Kirk, *A fixed point theorem for asymptotically nonexpansive mappings* , Proceedings of American Mathematical Society, vol. 35 (1972), 171-174.
- [5] C. Moore and B. V. C. Nnoli , *Iterative solution of nonlinear equations involving set-valued uniformly accretive operators* , Comput. Math. Anal. Appl. 42(2001), 131-140 .
- [6] M.A. Noor, *Three-step iterative algorithms for multi-valued quasi variational inclusions* J. Math. Anal. Appl. 225(2001), 589-604.
- [7] M.A. Noor, T. M. Kassias, Z. Huang , *Three-step iterations for nonlinear accretive operator equations* , J. Math. Anal. Appl. 274(2002), 59-68.
- [8] E.U. Ofoedu , *Strong convergence theorem for uniformly L-Lipschitzian asymptotically pseudocontractive mapping in real Banach space* , J. Math. Anal. Appl., 321(2006), 722-728.
- [9] A. Rafiq, A. M. Acu and F. Sofonea, *An iterative algorithm for two asymptotically pseudocontractive mappings* , Int. J. Open Problems Compt. Math., vol. 2 (2009), 371- 382.
- [10] J. Schu, *Iterative construction of fixed points of asymptotically nonexpansive mappings* , J. Math. Anal. Appl.,158(1999), 407-413.